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Choose the correct answer from a ,b ,c or d.

1- The museum, near our school, is always ................ in the afternoon.
a- busy b- empty c- clear d- far
2- Watching television for a long time is not good for your .................

a- feet b- ears c- hands d- eyes
3-We.ieeeeeieee wash our hands before eating.

a- mustn't b- must c- has to d- had
4- The train to Alex ......... at ten past eleven.

a- leave b- leaving c- leaves d- are going to leave
5- My uncleis the ......... of a factory. He gives instructions to the workers.

a- captain b- plumber c- mechanic d- manager
6-You should drink ..........................water in hot weather.

a- more b- less c- most d=least
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Choose the correct answer from a ,b ,c or d.

1- The school you told me about was a good

a- display b- recommendation Cc- review d- information
2-YOU .oevnreern, a coat. It’s very cold outside.

a- wear b- should wear c- shouldn’t wear d- can’t wear
3- His car is broken and he needs someone to ......... it.

a- repeat b- explain C- repair d- report
4-Some students work on holidays to ......... some money.

a- earn b- lose c- give d- waste

5- If the team played well, they ................ the match.

a- win b-won c-will win d- would win
6-My uncle..............live in Paris ,speaks French very well.

a- who b- whose c- when d- where
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Choose the correct answer from a ,b ,c or d.

1-The car was too difficult to.............because of raining.

a- hit b- control c- balance d-ride
2- The cost of something is how........ you need to buy it.
a- many b- much c- long d- high
3-If she. ............... hard , she will get high marks .
a- study b- studied c- studies d- studying
4-| missed the bus, I............ be late for school.
a- must b- might c-shouldn’t d- can’t
5-1'd like to...ccoveeeeeeereee you to my house this Saturday.

a- invent b- interview c- interrupt d- invite
6- Some students work on holidays to ......... some money.

a- waste b- lose c- earn d- give
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